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1. You and your friends go to the movies.  The cost of admission is $9.50 per 
person.  Create a table showing the relationship between the number of people 
going to the movies and the total cost of admission.
Explain why the cost of admission is proportional to the amount of people.

2.  For every 5 pages Gil can read, his daughter can read 3 pages.  Let 𝑔
represent the number of pages Gil reads, and let 𝑑 represent the number of 
pages his daughter reads.  Create a table showing the relationship between the 
number of pages Gil reads and the number of pages his daughter reads.
Is the number of pages Gil’s daughter reads proportional to the number of pages he 
reads?  Explain why or why not.
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1. You and your friends go to the movies.  The cost of admission is $9.50 per 
person.  Create a table showing the relationship between the number of people 
going to the movies and the total cost of admission.
Explain why the cost of admission is proportional to the amount of people.

The cost is proportional to the number of people because a constant value of 9.50
exists where each measure of the number of people multiplied by this constant gives 
the corresponding measure in 𝑦.

2.  For every 5 pages Gil can read, his daughter can read 3 pages.  Let 𝑔
represent the number of pages Gil reads, and let 𝑑 represent the number of 
pages his daughter reads.  Create a table showing the relationship between 
the number of pages Gil reads and the number of pages his daughter reads.
Is the number of pages Gil’s daughter reads proportional to the number of pages he 
reads?  Explain why or why not.

Yes, the number of pages Gil’s daughter reads is proportional to the number of 
pages Gil reads because all the values of the ratios are equivalent to 0.6.  When I 
divide the number of pages Gil’s daughter reads by the number of pages Gil reads, I 
always get the same quotient.  Therefore, every measure of the number of pages Gil 
reads multiplied by the constant 0.6 gives the corresponding values of the number of 
pages Gil’s daughter’s reads.


